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ohe A ARG o, T2

(4xt =5x3 4+ 3x2 —dx+ 1)+ (x> —x+ 1)

@ 4x2-3x+2 @4x2—x—2 ® 4x2-2x+1

@ —4x?—x-2 ® —4x®+x-2

Lo Ax? —x—2, UHA] C —5x+3




x o e A A = 2% 4 5x° +4 & HZA B 2 Y 1, KOl
| B ?

2+ 1 013, X7} ~6x 42 o]k, o] v, Tk B 2 ot
@x2+2x—|—2 @ x24+x+2 ® x2—x+2
@ x2-2x+2 ® x2-3x+2

B ~

A=B(2x+1)—6x+2 oA

B(2x +1) = 2x® + 5x% + 6x + 2

S B=(2x3+5x2 +6x+2) + (2x+ 1)
=x?+2x+2




& 138 9] A2+ AGHE, A2 EFCD = E

AV o3, AD = a, AB = b, 121

GBFH 9] go]&? G H
B F

@ a® - 2ab-0b? @ a® + 3b% - 2ab

@—a2 + 3ab — 2b> @ —a® + 3ab - b?

® —a® + 2ab - b?

oGBFH = 0ABCD - 0AGHE - oEFCD
=ab - (a—b)?-b? =ab— (a® - 2ab + b?) — b?
= —a? + 3ab — 2b?




e 5 (x—y)2(x+y)2 = AAT 2127
D xt -yt @ x*-y°
@x4 —2x%y? 4 y* @ x*—x?y? +y*

® x*—4x?y? +y*

(x=y)2(x+y)? ={(x-y)(x+y))?
— (X2 _y2)2

= xt - 2x%y% 4yt




6.

1999 x 2001 o] 3t ote] & uff, 714 4

@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab

]
=

o
mm

1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12




7. (a-b+c)a-b-c)E A7HotaA?

® -a®>+b>-c®+2ca @ a®-b%>+c%+2ab
@ a4 b% + 2 + abe @ a?-b%-c24 2

@a2 +b%—-c%-2ab

B

(a=b+c)(a-b-c)
={(a=b)+c}{(a—b)—c}
=(a-b)?-c?

=a®+b*—c%-2ab




8. x+y+z=3 xy+yz+zx=-14 W x2+y?+2% 9 3= oY

@ @ 12 ® 13 @14 O

4y +22 = (x+y+2)7?%-2(xy+ yz+ x2)
=94+2=11




1o

T}3HA] A, B tioto] A+ 3B =2x2 —Tx—1, B—A = 2x% —5x—7
o, A+ B=?

@—x+3 @ x-3 ® x2+x+3

@ x*-x-3 ® x2-x+3

A=-x24+2x+5 B=x*-3x-2
A+B=(-x>+2x+5)+(x*-3x-2)=-x+3

A+3B=2x*-7Tx-1
B-A=2x>-5x-17




10.

U A A, Bl Histe] A - BE F51H?

A =2y? + x*> = 3xy, B=—4x% - 2xy + 5y

@® 5x% - 2xy + 3y? (@)5x2 — xy — 3y?
@ 5x% + xy + 3y @ 5x% + 2xy — 3y?

® 5x% + 3xy +3y?

B

SRI7E At £

A—B = (2y? + x? - 3xy) — (—4x% - 2xy + 5y?)
= 5x% — xy — 3y?
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®s5 @1 0t @i

® 722k

w2 4+ 1)" (8 +1)° 2
8+ 9 = 172} T}l o]t}




A f(0) S x4 12 e B2 o), U AE Rolety & o),
xf(x) - 32 x+ 12 U B3} U] =2
@ XQ(X),—R—B @ xQ(X),—R+3

© #0(x).~R =6 @XQ(XHR,—R—?,

® xQ(x) +R,-R+3

B

f(x) = (x+1)0(x) +R
5oxf(x) = x(x + 1)Q(x) + xR
wxf(x) =3 =x(x+1)Q(x) + xR -3
=(x+1) {xQ
=(x+1) {xQ

x)}+(x+1)R-R-3
x)+R}-R-3

(
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=2+ 122+ 12" +1)(28 + 1)(2' + 1) o g A7

D)232 -1 @ 232 41 @ 931 _

@ 23 41 G 2171

FolR Ao (2-1) = 1 & BAHE A 4Hstmz

P=(2-1)2+ 12+ +1)(2° +1)(2"° +1)
=(22-1)(22+1)(2* + 1)(28 + 1)(2'6 + 1)

=24 -1D*+ 1) (22 +1)(2¥ + 1)

— (216 _ 1)(216 + 1)
=232




14.

(10° +2)7 ] 7 Aol o] 5:749] L Fopoiel,

D 15 @18 ® 21 @ 26 ® 28

&8

FAE A7NsHA

1015 + 2% + 3 x 2 x 10°(10° + 2)

=10 +23 4+ 6x 100 + 12 x 10°
=10+ 100 x 6+ 10°x 12+ 8
“1+6+1+2+8=18
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o5 @V oVvE @ ® viz

B

Al A2 9] ol & a, b, c2t ST
2(ab + bc + ca) = 52
d(a+b+c)=36 > a+b+c=9
(R5017) gizHae] Zol)
N

= /(a+b+c+)?-2(ab + bc + ca)
= V81 -52 = V29




16. a+b+c=0,a?+b>+c2 =1L W, a?b? + b%c? + c2a®> Y 327
1
oF @

(a+b+c)? =a?+b*+c+2(ab + be + ca) ©ll HYsHA

® 0 @ 1 ® 4

DN | =

1
ab+bc+ca=—§

(ab + be + ca)? = a®b? + b*c? + c2a® + 2abc(a + b + ¢)

= =

— = a’b? + b%c? + ?a® + 2abc(a + b + ¢)

1
wabA a2b2 + b2¢2 + 242 = Z




